

			т	ids			Page 1 of 3		
Contract ID: 25434				Counties:	BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSE JNION, WARREN				
Letting Date: December 12, 2024				District(s):	N4				
Call Order: 434				Project(s):	N/A				
Contract Time: 01/31/26 COMPLETION DATE			TE	Min:	Max:				
Contract Description: MTN TIMBER AND UNDERWATER, NORTH - 2025									
Line No / Item ID Item Description		(1) IEW CONSTRUCTION GROUP, INC.							
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	<b>I:</b> 0001	BRIDGE		Cat Al	t Set:	Cat A	It Member:		
0001	151006M	1.000	50,000.00000	50,000.00					
PERFORM PAYMENT	ANCE BOND AND	DOLL							
0002	152015P	1.000	40,000.00000	40,000.00					
POLLUTIO	ON LIABILITY INSUF	RANCE DOLL							
0003	MMG010M	3,500.000	1.00000	3,500.00					
TELEPHO	NE SERVICE	DOLL							
0004	MMB172M	4,000.000	0.01000	40.00					
LANE CLO	SURES	HOUR							
0005	MMB173M	72,000.000	1.00000	72,000.00					
SOLID WA	STE DISPOSAL	DOLL							

12/26/2024



Tabulation of Bids								Page 2 of 3
Contract ID: 25434				Counties:	SE BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SU UNION, WARREN			
Letting Da	ate: Decem	ber 12, 2024		District(s):	N4			
Call Ord	<b>der:</b> 434		Project(s): N/A					
Contract Time: 01/31/26 COMPLETION DA			ΑΤΕ	Min:	Max:			
Contract De	escription:	MTN TIMBER AND	UNDERWATER	, NORTH - 202	5			
Line No / Item ID Item Description			(1) IEW CONS GROUP					
Alt Set / Alt M	ember	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001	BRIDGE		Cat Al	t Set:	Cat A	It Member:	
0006 MMG	027M	290,000.000	1.00000	290,000.00				
DISPOSAL OF R MATERIAL	REGULATED	DOLL						
0007 MMG	064M	5,000.000	1.00000	5,000.00				
DISPOSAL OF R MATERIAL, HAZ		DOLL						
0008 MMG	095M	3,785,000.000	1.15000	4,352,750.00				
ADJUSTMENT F ACCOUNT)	FACTOR , (FO	RCE PCT						
0009 MMB	186M	8,400.000	790.23000	6,637,932.00				
LABOR CREW ,	TIMBER	HOUR						
0010 MMB	186M	3,000.000	86.57000	259,710.00				
LABOR CREW ,	DIVING	HOUR						



Tabulation of BidsP								
Contract ID: 25434	Counties:	BERGEN, ESSE UNION, WARRE		ORRIS, PASS	SAIC, SUSSEX,			
Letting Date: Dece		District(s):	N4					
Call Order: 434			Project(s):	N/A				
Contract Time: 01/31/26 COMPLETION DATE			Min:	Max:				
Contract Description: MTN TIMBER AND UNDERWATER, NORTH - 2025								
Line No / Item ID Item Description		(1) IEW CONSTRUCTION GROUP, INC.						
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 BRIDGE		Cat A		It Set: Cat Alt Mem		It Member:		
0011 MMB092M	1,800.000	100.00000	180,000.00					
CREW COORDINATOR	HOUR							
0012 MMG025M	140,000.000	1.00000	140,000.00					
OVERTIME DIFFERENTIAL	(OD) DOLL							
Section Totals:	\$	\$12,030,932.00						
Co		\$12,030,932.00						
Cost Plus Time Totals			\$12,030,932.00					
	• •			•		•		

12/26/2024

() indicates item is bid as Lump Sum

() DEPAI	e of New Jersey RTMENT OF TRANSPORTATIO y, Governor   Sheila Oliver, Lieutenant Governor	N				12/26/2024
		Ven	ndor Ranking			<b>Page:</b> 1
Call Order:	434	Contract ID:	25434	Counties:	HUDSC PASSA	N, ESSEX, DN, MORRIS, IC, SUSSEX, WARREN
Letting Date:	December 12, 2024 10:00 AM	District(s): N4	4			
		Contract Time:	01/31/26 COMPLETION DATE			
Contract Descr	iption: MTN TIMBER AND UNDE	Project(s):	N/A			
Rank	Vendor Name			Total B	id	Percent Of Low Bid
1	IEW CONSTRUCTION GROUP, IN	IC.		\$12,030,9	32.00	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

12/26/2024